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% - Consider a two-consumer and two-good economy. Consumer h has the utility function

UM = Inx? +Inx%, and x, and x, represent good 1 and good 2, respectively.

1.

Calculate the marginal rate of substitution between good 1 and good 2 in terms of
consumption levels. (5 %")
By equating the marginal rates of substitution for the two consumers, characterize a Pareto

efficient allocation. (5 %)
Using the solution to part 2, construct the contract curve for an economy with 2 units of good

1 and 3 units of good 2. (5 %)

7~ Consider a population of consumers. When a consumer is a member of a club providing a level

of club good G and having n members, they obtain utility U =M — % +InG — %, where k is

I G 3 .
a positive constant and =1 the charge for club membership.

1,
o

Derive the optimal membership for the club if it maximizes the utility of each member. (5 %)
Assuming the club chooses G optimally given its membership, calculate the loss due to
membership of a club with suboptimal size. (5 %)

What club size maximizes total utility produced by the club? Contrast to the answer for part
1.5 &)
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